20178t A= A4 Z4HA

(&9 = 2)
3=
of AF 4 of| A& o 2549 eV =
T | F =

1.0] 4454 334,807,000 334,807,000 334,805,680
1.0 &H 53] A o] [ F Y 334,807,000 334,807,000 334,805,680
1. S EE S ARG =T 334,807,000 334,807,000 334,805,680
1.8t w8 Al g = 334,807,000 334,807,000 334,805,680

A RIS E=s = 206,566,000

EAAGR A Y= = 128,239,680
2. AHA <) 52,402,000 52,402,000 52,569,370
1.3 R 50,779,000 50,779,000 50,778,800
1.5 2} R ek59) 50,779,000 50,779,000 50,778,800
1.949 10,345,000 10,345,000 10,344,800

kel = 8,710,800

a2 = 1,634,000
2. 755} 1 85 ) 29,340,000 29,340,000 29,340,000

v 7} 58}l &5 1] = 29,340,000
3.7 A 11,094,000 11,094,000 11,094,000

Rk Rt = 11,094,000
2. P74 554 1,623,000 1,623,000 1,790,570
LAY TR 100,000 100,000 100,000
1AM S SR 100,000 100,000 100,000

AHE R = 100,000
2. 716t 55 1,523,000 1,523,000 1,690,570
1.0z 386,000 386,000 554,220

o] zF4=¢] = 554,220
2. 71Et A G559 1,137,000 1,137,000 1,136,350

71et A 5 = 1,136,350
3. 71t <) 6,213,000 6,213,000 6,212,400
1. Addze) g+ 6,213,000 6,213,000 6,212,400
L&AA = 6,213,000 6,213,000 6,212,400
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1.MAI AT 6,213,000 6,213,000 6,212,400
THA L = = 6,212,400
Al 3 3HA 393,422,000 393,422,000| 393,587,450
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